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1. BFEFEFHIA
2EBERA (A ( 16,210 ) | ( 16,100 ) | ( 110)
EZERBINA 10,210 10,100 110
BO=EREBINA 6,000 6,000 0
HEBEFNA (B) ( - 4,200) | ( 4,000 ) | ( 200)
EREBBRRR - DEMBESPRESIA 4,200 4,000 200
XA (© ( 178) | ( 1)]¢( 177)
SR B 178 1 177 |EfE - EEA R
BREFBHNAGTFT (D=A+B+C ) 20,588 20,101 487
2. BEEHITH
FXEXH (B ( 21,226 ) | ( 22,142 ) | ( A 916)
_ 2wl (ISEEREBKEZE) 4,476 3,681 795
NtE2 (BEFOHE - AEBIKEE) 10,950 12,352 A 1,402
Z0M 1l (FERUVENEERITEE) 1,822 1,876 A b4
ZDfh 2 (BRI EZE) 494 495 Al
Z o3 (LERIEBZIEEE) 0 132 A 132
MRl H 2,730 2,828 A 98
EERMNE 469 476 AT
REEHG (T H 0 52 A 52
BEERE 285 250 35
EEEXH F) ( 3276)|(  2425)|( 851 )
& BREH 150 150 0
MBEFEETH 1,170 1,212 A\ 42
EEEMEXZH 201 204 A3 |tasmpEgran
BRI 22 22 0
BHNELEE 20 20 0 |mmzmsz
REBEXH 10 10 0
RERXBEH 12 5 7
BEEREH 285 250 35 |mE m=R
HEMHREREXH 250 250 0 |xE=af
- EIRIEARER H 110 50 60 |HEENRIE
HERARETH 2 2 0 |z wrms- cosss
EBEEE 494 0 494 |ast+mm
L MR 550 250 300 |[maFsms - HPESH
EEEHIWA (G=E+F) 24,502 24,567 65
EEFFNEZEE (H=D-G) A 3,914 A 4,466 552
I FEEZHE (1) 100 100 0
ZHNZEE (J=H-1) A 4,014 A\ 4,566 552
BIHAfEBUNT =% (K) 5,302 4,000 1,302
REAfEHUNEZ8E (L=J+K) 1,288 /\ bbb 122




